Lattice multiplication assignment.
1. Do each of the following using lattice multiplication
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2. Come up with a multiplication problem with exchanging (where, if you were doing the standard algorithm you would be “carrying” something).  Make a diagram for it—either checkerboard or array—and also do it using the lattice multiplication algorithm.  Write or record an explanation of how the diagram corresponds to, and tells what should be in the numerical (Lattice) algorithm.  Include an explanation of why you add along the diagonals.
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